In Lecture 3 there is a brief mention about the Power of Categories in Timing of Reports. 

Here is a bit more of an explanation. Sometimes things take a while to happen in a business, and so the financial report needs to show how the business is creating value, even though all the money hasn’t come in and all the bills haven’t been paid yet. 

For example, Work In Progress is categorized as an Asset; but it gets re-categorized as an Expense when the product is sold (when the revenue is “booked”). This accounting trick removes potential imbalances associated with reporting over a time interval. 
But why do that? Isn’t all the money that is spent doing the work tracked as expenses?

(I mean, a liability, or is it equity…). That’s the potential problem. By showing money going out (expenses going up), without showing that the company is doing something that is creating value (doing work for an eventual sale) would create a distorted picture of how the company is performing. To avoid this problem, the costs associated with production are captured as work in progress (an asset account). 
Think of it in terms of debits and credits:

An increase in an expense account is equivalent to an increase in an asset account, because the business is spending money to create value (in the eventual sale). Both are debits. 

Since assets = liabilities + equity, when the liability associated with expenses goes up, the assets have to go up by the same amount for the fundamental equation of accounting to hold true.
This equation has to balance in the reporting period, so re-categorizing is used to make sure the equations balance.

If this were not done, then there could be huge swings between reports. If a big sale didn’t happen until after the reporting period, then the business would appear to be in trouble because expenses (debits) would be high without the sales revenue (credits)

If expenses all got booked as liabilities with no associated sales revenue coming in, then costs would keep climbing during the period and it would look as though the company is just losing money. 
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Instead, by book expenses as WIP (the asset going up being a debit), and then converting 

Those costs to expenses (also a debit) at time of sale shows that value is being created even before the sale.  
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The company can only count the expenses as WIP assets, not the value of the eventual sale.






